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5 100kN/mM%BZ % -l -~ = - 3m%Ei#BZ D = ~ = = —| 100kN/m%#8 2% = -~ = ~| 3m%EiBZ B -~ = = =
s 1.00/0.00 ~ 5.19 64.71| =hLlst 1 0.00 ~ 5.19| 1.78 9.32 Lo 1.00] 5.00 ~ 5.60 64.71] =hLls | 500 ~ 560 1.78 9.32
6 100kN/mM%EBZ 5 -l -~ = - 3m%EiBZ D = ~ = = —| 100kN/m%#8 2% = -~ = ~|3m%EiBZ B -~ = = =
s 1.00/0.00 ~ 6.36 79.97| = Ll4t 1 0.00 ~ 6.36| 1.84 9.65 Lo 1.00] 500 ~ 7.60 79.97| =hLlst | 5.00 ~ 7.60| 1.84 9.65
7 100kN/mM%EBZ 5 -l -~ = - 3m%EiBZ D = ~ = = —| 100kN/m%#8 2% = -~ = ~|3m%EBZ B -~ = = =
s 1.00]0.00 ~ 467 58.25| =n L4t | 0.00 ~ 467| 1.85 9.7 Lo 1.00] 500 ~ 5.03 58.25| =nLls | 500 ~ 503 1.85 9.71
8 100kN/mM%EBZ 5 -l -~ = - 3m%EiBZ D = ~ = = —| 100kN/m%#8 2% = -~ = ~|3m%EBZ B -~ = = =
s 1.00]0.00 ~ 4.21 52.67| =nLl4t 10.00 ~ 4.21| 2.01 10.57 Lo 1.00] 5.00 ~ 5.00 52.67| =nLls | 500 ~ 500 201 10.57
9 100kN/mM%EBZ 5 -l -~ = - 3mZE#BZ D = ~ = = —| 100kN/m%#8 2% = -~ = ~|3m%EBZ B -~ = = =
s 1.00/0.00 ~ 443 55.33| Zn L4t | 0.00 ~ 4.43] 212 11.10 Lo 1.00] 5.00 ~ 5.90 55.33] =nLls | 500 ~ 590 212 11.10
10 100kN/mM%EBZ 5 -l -~ = - 3m%Ei#BZ D = ~ = = —| 100kN/m%#8 2% = -~ = ~|3m%EBZ B -~ = = =
s 1.00/0.00 ~ 6.49 81.78| =nLl4t+ | 0.00 ~ 6.49| 1.88 9.86 Lo 1.00] 5.00 ~ 8.00 81.78] =nLls | 500 ~ 8.00f 1.88 9.86
» 100kN/mM%EBZ 5 -l -~ = - 3m%EiBZ D = ~ = = —| 100kN/m%#8 2% = -~ = ~|3m%EiBZ B -~ = = =
L 1.00]0.00 ~ 476 59.26| Zh L4t 10.00 ~ 4.76| 1.79 9.39 Lo 1.00] 5.00 ~ 5.02 59.26| =nLls | 500 ~ 502 1.79 9.39
100kN/mMZ#8 2 % ~ 3mEHBAD ~ 100kN/mM%E#BZ 5 ~ ImEEZD ~
Ths ~ ZhnLst ~ ZhnLst ~ ZhLst ~
100kN/mMZ#8 2 % ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ Lot ~ Zzhust ~
100kN/mMZ#8 2 % ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ ZhnLst ~ Lot ~ Zhust ~
100kN/mM%#8 2 % ~ 3mEHBAD ~ 100kN/mM%E#Z5 ~ ImEEZD ~
Ths ~ st ~ ZhnLst ~ Zhust ~
100kN/mMZ#8 2 % ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
zhst ~ ZhnLst ~ ZhnLst ~ Zzhust ~
100kN/mMZ#8 2 % ~ 3mEHBAD ~ 100kN/mM%E#BZ 5 ~ ImEEZD ~
Ths ~ ZhLst ~ ZhnLst ~ ZhLst ~
100kN/mMZ#8 2 % ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
zhst ~ ZhLst ~ ZhLst ~ Zhust ~
100kN/MZ#8 2 % ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
zhs ~ ZhnLst ~ LSt ~ Zhust ~
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